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1. Find each of the following limits if they exist. If the limit does not exist, explain why.
. -3x2 +x -6 . 7 - 3x% - 6x°
a. lim b. lim
w= | x2 + 3x - 10 x-= | 4x? + 3x - 10
B _ 2 _
C. lim 1 + IJ n -7 d. lim gap =
xme \ X %2 x| 4x? + 3x - 10
3x? +x -7 : 3x3 + 5x2 - 7
e lim £ lim
x-o | 10 - 4x - 5x? s-= | 10x3 - 11x + 5
g, lim | x | h. im 1*1
X~ —ea X0 |x| + 1
i fints |2 + 1~ %) i. firet (3% 8% + 6 ~ Yo .30 + 1)

k. lim

X—ea

12x3 - S5x + 2
1+ 4x? + 3x3

2. Find each limit if they exist. If the limit does not exist, explain why.

a | EOH b T | SO
x=0 2x x-0 \ sin 3x

& lim | 1.=_c0s (2x) d. fi | X = SO
*40 452 s~ L X + COS X

e.  lim (1 + cos (i) £ lim | 2RI SMYCOST
Koo X x-0 x2

g. lim (x cot x) h. foag | BILOE > ] -~ (S ocJ
x=0 x-0 X
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. lim(cos (¢ + x) - cos ec) §. lim[tan (¢ + x) - tan a)
x-0 X x-0 X
3. Use the Squeeze Theorem to evaluate the following limits :
a. lim [sm_(x)) b. lim ( x? + x? sin [E)]
X—eo X x=0 X
o lim (x“ cos (2])
x=0 X
4, Determine the horizontal asymptotes of the graph of each of the functions given below:
3?2 + 1 x -9
a. y o= — b. y =
4 -5 J4x2? + 3x + 2
5. Show that the cubic equation x* + x* - x - 4 = 0 has aroot in the interval (1,2).
6. If fix) =x* + x - 1, showthat f hasazerobetween x = O and x = 1.

s Show that flx) = x® - 15x + 1 has at least three zeros in the closed interval [-4, 4].



